50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Seventh Semester B.E. Degree Exaggunatlon, Jan. /Feb 2021
Trlbology
Time: 3 hrs. a;x Marks: 80

a. What are the desirable propertles ‘of Lubricating 0il? . ¢ (06 Marks)
b. Discuss the effect of temperature and pressure on VISGOS!ty (06 Marks)
c. Discuss the purpose ofJIfhnéatlon (04 Marks)
A ,& -
w OR «_
a. Discuss the types of lubncant and the appl}gﬁﬁﬁﬁs (06 Marks)
b. Write a note on seléction of lubricants. (oY (06 Marks)

c. Discuss the 1mp0rtant application of tnbology (04 Marks)

l\ﬁ%dule-

a. Wlth a ne‘“at sketch, explain the meas"urement urement of friction, by'pin on disc equlpment (08 Marks)
b. Explain adhesion theory of friction by Bowden and Ta@%@ Also list the 1' nitations.(08 Marks)

'\v
A Wﬁxgﬂ

OR V% ”

» ,
a. Define Wear. Discuss theglfferent types of wear With neat sketches & (10 Marks)
b. Write a note on wear of ceramic materials. @m}m (06 Marks)

¢
a. Derive the Petreﬂ’s equation for % Ifghtly loaded bcarmg Also indicate the assumption
made w“ "Q:ﬁm MQ » (08 Marks)
b. A full qumal bearing has the: %ollowmg spemﬁcatxom%shaﬂ diameter 45mm bearmg length
at effectlve temperatur% 1§“‘8 27 x 10° Pa.S. Con51dermg the beanng as lightly loaded,

thermme 1) Friction t Li‘e at the shaft _“4)™ Co-efficient of friction 1i1) Power loss.
e, — - (08 Marks)

OR

Derive Reynold’s: eqli“jltlon in 2D [twqﬁ%"&% mension]. Also state the assumption made. (16 Marks)
J“W :
Module-4
a. Derive an expresswn for load carrying capacity of a plane slider bearing with fixed shoe.

(10 Marks)
b. A rectangular plain shderbearlng with fixed shoe and with no end leakage has the following
data :
i) Bearing lengthf ?Omm ii) Width of shoe — 90mm iii) Load on bearing — 7800N.
iv) Slider velocwe 250 x 102 mts/sec  v) Inclination a. = -0.00035 radians
vi) Viscosity of' oil n =40 Cp.

Determine Iy Minimum film thickness II) Power loss III) Co-efficient of friction.
ﬁigg% (06 Marks)

J 10f2
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OR

Derive an expression for load carrying capac1%of ﬁydrostatw step bearing. Also state the

assumption made. . Y. 1 4 (10 Marks)

A hydrostatic circular thrust bearing has th 3> owmg data : Shaft dlafﬁ =300mm ,

Diameter of pocket =200mm ; Shaft & =100 rpm ; L O

Pressure at the pocket = 500kN/m? Film thickness = 0.07mm P =

Viscosity of lubricant = 0.05Pas. e%ﬁmne i) Load carrymg‘capamty

ii) Oil flow rate ii1) Pow, s’due to friction. (06 Marks)

Module-5

(08 Marks)
(08 Marks)
(08 Marks)

(08 Marks)



